Math 8: Integers


Order of Operations with Integers



Name: ___________________________
Date: _______________________
Block:_______

1.  Evaluate.

a. [image: image2.png]—-5+2-3




b.  [image: image4.png](-74+18)--2




c.  [image: image6.png]12 - (3)(2)




d.  [image: image8.png]15 +(=5) -2




e. [image: image10.png]-9—-4(3+1)




f.  [image: image12.png]3-35+(=7)




g. [image: image14.png]—2x3—-(-12)+3




h.  [image: image16.png]—6(3) — 2(15)




i. [image: image18.png]—64 + (—12 — —4)




j. [image: image20.png]—-2:-6+36+(—18)




k. [image: image22.png]—-10+ —-3(2-5)




l. [image: image24.png]48 + (=2 — —10)




m.  [image: image26.png]28+ (=7) + (—40) =5




n.  [image: image28.png]—-3(6+2-5)+(—4)




o.  [image: image30.png]-5.3-2(20





p.  [image: image32.png](-5%x2—-10+4) ~ -8





q.  [image: image34.png]— —4(-2:8—-12+-4)+7




2.  Evaluate.  

a. [image: image36.png]-2[3 - (-5)]





b. [image: image38.png]12 —=5[-2 — (—4)]




c. [image: image40.png]—54 2[(=3)(-=2) + 4]




d. [image: image42.png]12 - 3[4 + (-1)]





e. [image: image44.png]—-12-4
3+(-11)





f.  [image: image46.png]—-20+(-2)
5_(—6)





g. [image: image48.png]-2(-16)
2-10





h. [image: image50.png]3:(5-7)
-1-=-2






i. [image: image52.png](C2)(EHED
_o__13




	3.  The temperature at 5:00 am was [image: image54.png]—16°C



.  It warmed [image: image56.png]2°C



 each hour until noon.  What was the temperature at 10:00 am?

5.  Jada had $240 in her bank account.  She proceeded to make 5 withdraws of $15 each.  Write an expression to determine how much money Jada has left in her account.

	4.  Absolute zero ( [image: image58.png]—273°C



) is the coldest possible temperature.  What is the difference between normal room temperature ([image: image60.png]+18°C



) and absolute zero?
6.  One afternoon a scuba diver dove 21 m below the surface of the sea.  On each successive day she dove 3 m further.  How deep was her dive after one week?




Challenge:


Simplify.

a. [image: image62.png]




___________



b.    [image: image64.png]52





___________

c. [image: image66.png](—3)2




___________



d.  [image: image68.png]



___________
e. [image: image70.png](—-1)2




___________



f.  [image: image72.png]




___________



g.  [image: image74.png]22.52





h.  [image: image76.png]—6:5—32





   i. [image: image78.png](54+1)2+—4



 
       j. [image: image80.png]54+ (2 —4)2




